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If3A=2B=4C, then whatis A:B:C ? 1.
(A) 4:6:5 B) 2:3:5
(C) 4:6:3 D) 2:3:4

(E) Not attempted

Fill in the blank : 2.
2 2

Ifa +b =29andab=10,thena+b=

(A) +7 (B) 14

(C) +14 D) 9

(E) Not attempted

A scored 20% more than B. B scored 25% less than | 3.

C. If C scored 80, what is A’s score ?
(A) 76 (B) 72 (C) 84
(E) Not attempted

(D) 80

Which of these gives an incorrect relation between
HCF and LCM ?

(A) aand b are both divisble by HCF (a, b)
(B) LCM = max (a, b)

(C) HCF (a, b) X LCM (a, b)=a/b

(D) HCF < min (a, b)

(E) Not attempted El%g
[ et

Which of the following pairs of scientific |35,

inventions and scientists is incorrect ?
(A) Penicillin — Fleming

(B) X-rays — Roentgen

(C) Radio — Rutherford

(D) Periodic Table — Mendeleev

(E) Not attempted

Which of the following ‘data set-to-average’ pairs | 6.

is incorrectly matched ?
(A) [4,6,8]—6

© [1,3,5,7]1—4
(E) Not attempted

®B) [3,5,7,91 -7
D) [2,4,6,8]—5

GET IT ON
Google Play

T 3A=2B=4C8, TMA:B:CHTE?

(A) 4:6:5 B) 2:3:5
(C) 4:6:3 (D) 2:3:4
(B) SO <1 =med
ﬁ?ﬁwuﬁq;
Afea’+b° =29 3ab=10,dra+b=
(A) +7 (B) 14

(C) +14 (D) 9

(E) Wl a1 =med

A B H 20% 371k 37k 918 [T | BT C & 25% 9
3fe 918 TR | Afe C 7 80 37 W fohw, at A o 37
IET R

(A) 76  (B) 72
(E) SRl 37 =ed

0 ¥ H-°T HCF 3T’ LCM o sfi=r 7Te7d Gaier <ar
792

(A) a 3R b T HCF (a, b) @ fovrsa &

(B) LCM > max (a, b)

(C) HCF (a, b) X LCM (a, b)=a/b

(D) HCF < min (a, b)

(E) AT o1 =med

(C) 84 (D) 80

Frafafaa & @ amfe enfasert ot sgfent &
91 H T © ?

(A) uffafem — wifim
(B) T - {desiA
(C) e — i

(D) 3Tad Gl — Aeefia
(B) IR AT =med

E!'§E|Ei
X
=]

frefafad & @ FR-8 T Fed-fwa Iw H
e T 2 2

(A) [4,6,8] =6
©) [1,3,5,7] — 4
(B) SO &1 =med

®B) [3,5,7,91—-7
(D) [2,4,6,8] -5
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A piece of paper is folded and then holes are
punched in it, as shown in the Question Figures.
From the given Answer Figures, indicate how it
will appear when opened.

Question Figures :

SN |

AN
Answer Figures :
(A) | (B)
©) i D)

(E) Not attempted

o

X

[l
If triangle represents Men, rectangle represents
Businessmen and circle represents Millionaires,

then which number represents Men that are both
Businessmen and Millionaires ?

(A) 13 (B) 12
(E) Not attempted

© 10 (D)1l

A farmer looks out into his farm and sees both
chickens and cows. He counts a total of 30 heads
and 74 legs. Assuming every animal has exactly
one head, how many chickens does the farmer
have ?

(A) 23 (B) 15
(E) Not attempted

(C) 18 (D)7

7.

8.

9.

GET IT ON
Google Play

SHTITST o Ueh Zohs ohi HIST SITT & 3 TRt 36 o fohy
ST &, St foh s etreRfaR # fommar ma € 1 & e
I ATHET  FaTsy foF @i W I8 e faar
Ll

O ST :

/| i | e
IR ATHTAAT :

(A) (B)

© D)

(E) Wl &1 =med

[EEEE

i
FTe BIYT &N ol GRITT &, HTId ASTHTIHAT T T
2 3 I gyl i gIiar 7, dF -5t de 37
ST 2l FRMTT & ST FaETT 3 FUSARd a1 @ 2

(A) 13 (B) 12
(E) 3l <A1 =med

© 10 (D)1l

e ToRET 370 Wil | <edT & ST gt i St
AT | 98 Tt 30 T 3R 74 | Feam € | 7 At
BT o BT SIHeR 1 T &1 o 2, fopam o e et

qffaf g ?
(A)23  B)15 (O18 (D)7
(B) SO &1 =med

$3%


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

10. Consider the following statements regarding the | 10.

Panchayati Raj system in Haryana :

L. The Zila Parishad is responsible for
advising, supervising and coordinating the
functions of the Panchayat Samitis within a
district.

II. The Panchayat Samiti is the highest
institution of the Panchayati Raj system at
the district level.

III. Gram Panchayats directly supervise the
activities of the Zila Parishad.

Which of the above statements is/are true ?

(A) I and IIT
(B) TandIII

(C) Only I

(D) Only I1

(E) Not attempted

El.??‘i
X
[ElE

11. What is the name of the radio programme launched | 11.

by Department of Women and Child Development
(DWCD), Haryana under Beti Bachao Beti Padhao
scheme ?

(A) Mabhri Laado

(B) Mabhri Desh ki Beti

(C) Mabhri Beti Bachao

(D) Mabhri Laado ki Awaaz

(E) Not attempted

12. Which of the following is a major Agro-Forestry |12.

species supporting wood-based industries in
Haryana ?

(A) Poplar

(B) Deodar

(C) Banyan tree

(D) Sal

(E) Not attempted
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BT § et U ogee & geiy § feferfiaa

FeT O ferem T

1. TSt uftae e fSiet 3 ofiaw v et
TS o, 3ok TAAI0T 3T HRAT o THST h
fore Rmer 2 |

1. d=mad afifa e T aX demdt U7 SeeT
T Hellea GEATR |

1. T v Tt uftse st nifaferfem st g
ot et € |

I | | HH-A1/E FHH T /2 2

(A) L, 11 3R III

(B) 13RI

(C) FaA1

(D) Faet 11

(E) 3T & 1 =med

E.é?‘i
X
[ElEA

S ST A gAY ASHT o SHarid e Td ST
forsprer T (Sresegeiel), sfmm g & fahg
T AT HrishH Rl TH FAT R ?

(A) TTEd ATSr

(B) AT o9 i 5

(C) ATl 3 s

(D) A& TSN ST AT

(E) 3T o1 9med

frafarfea o @ forar gfemon & aeel-emenfa sam
1 YT o ATl S FY AT S o w9 A
ST ST R 2

(A) forR (diwer)

(B) @R

(C) I & (sTS)

(D) 91

(E) TR g1 =med
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14.

15.

16.

e

Which of the following trees are commonly found
on the slopes of Morni Hills ?

(A) Deodar and Cedar

(B) Eucalyptus and Sal

(C) Neem, Oak, Pipal, and Jacaranda

(D) Bamboo and Teak

(E) Not attempted

What is the name of the Haryana State Culture 14,
Policy approved by the Haryana Cabinet in
2019 ?
(A) Kala Virasat Haryana Neeti
(B) Sanskriti Vikas Haryana Neeti
(C) Kalash Neeti
(D) Kala Vikas Neeti
(E) Not attempted
Which file format is best suited to store scanned |15,
documents while preserving OCR-readable text
layers ?
(A) JPEG
(B) PNG
LA
(C) PDF %%i?
(D) TIFF
(E) Not attempted
Which of the following is the correct order from |16.

smallest to largest unit of digital information ?
(A) Kilobyte, Megabyte, Gigabyte, Terabyte
(B) Megabyte, Kilobyte, Gigabyte, Terabyte
(C) Gigabyte, Terabyte, Megabyte, Kilobyte
(D) Kilobyte, Gigabyte, Megabyte, Terabyte
(E) Not attempted

13.

GET IT ON
Google Play

frefafad & @ HH-8 U gmm=Id: 1 gaifedt
TAMI T AT ST & 2

(A) IR I et

(B) IehfcTeed ST AT

(C) w, 37ek, fuet, TR SreRiar
(D) ate TR ArTa

(E) 30T 1 =med

E!%EEE
x
=]

2019 ® g wiwsa g siEied g TS
TEhfer fifer T AT AT 2

(A) Far faraa gfmom Hifa

(B) @eapfc foemme sfemom Hifa

(C) werer Aifa

(D) ar foshrg ifa

(E) 3T o1 9med

OCR -1 T3 Wl ohl T&Td i §U Tl fohT 1T
TEATSSI T IR FH % [T HH-81 B1gd IT&T
HeTH T © 2

(A) JPEG

(B) PNG

(C) PDF

(D) TIFF

(E) 3T o1 9med

Teforeat =T i T BT ¥ o oISt 31S 1 Wl
H ffafad # § H-a1 8 2

(A) FrciaTse, Tmege, Tfmmemse, SeTse
(B) wTEITEe, fohetiamse, fimmemse, emse
(C) TherTge, Xege, HeTse, fohettarse
(D) forcirage, ThrrarTse, HTeTse, Sese
(E) TR g1 =med
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18.

19.

20.

e

What is the name of the Haryana Government
scheme that compensates farmers when market
prices fall below MSP ?

(A) PM-KISAN Samman Nidhi

(B) Krishi Sinchai Yojana

(C) Meri Fasal Mera Byora

(D) Bhavantar Bharpai Yojana

E) Not attempt ;
(E) Not attempted g%%

Which ancient river, often mentioned in Vedic
texts, is believed to have flowed through
present-day Haryana and its revival is a current
project ?

(A) Shutudri

(B) Saraswati

(C) Vipasha

(D) Asikni

(E) Not attempted

Which of the following is the State Tree of
Haryana ?

(A) Mango

(B) Peepal

(C) Banyan

(D) Neem

(E) Not attempted

What is the primary objective of the “Manohar
Jyoti” scheme launched by HAREDA (Haryana
Renewable Energy Development Agency) ?

(A) vehicles

To promote electric

subsidies

through
(B) To provide solar water pumps to farmers for
irrigation purposes

(C) To install solar power plants on government
buildings

(D) To supply LED-based solar home lighting
systems to households

(E) Not attempted

17.

18.

19.

20.

GET IT ON
Google Play

EIATOTT G 3h1 36 AT 3BT T ATH & 1 SIS 7o
Tl @ A i ® R s g dt
29

(A) Hruy-foram o ffer

(B) Ff fem=g e

(C) A woet AT ST

(D) WA SILUTS AT

(B) IS 1 9med

dfdes Tl § 37eReR Jfvfd shi-8T I Jet aaqm
T & SRt SRt oft T SHHT RGN U FdHH
RS R 2

(A) e

(B) ar&dl

(C) fomem

(D) 3fet

(E) 3T o1 9med

frefafaa & o #-ar st Fr s g 2 2
(A) =

(B) dae

(C) T & (TR
(D) ==

(E) 3T o1 =med

E.é?‘i
X
[Elas

T (SRATOM 37eT Fsit forshrer i) R Y& 1 T3
“HTEL ST AISTT ohT TTATHeh I3 T2 2
(A) afeaet & ATeam & 3Ifdgeh AT i SeTaT

(B) s 3 foru fomerit oht G STe i SueTsd shaeT

(C) TR YT W G Foll I T hAT

(D) =R § TE- i T Sy SehTS e
YL AT

(E) 30T T =med
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22,

23.

24.

25.

26.

e

Find the odd one out :
(A) Sitar (B) Flute
(E) Not attempted

(C) Guitar (D) Violin

What is the value of the following expression ?
2

(32x15)+(672+08)—(2:1)

(A) 879 (B) 48

(© 1099 (D) 1321

(E) Not attempted

Which of the following word best completes the
relationship given below ?

Cell : Organism : : Brick : ?

(A) Cement

(B) Wall

(C) Building

(D) Mason

(E) Not attempted

After interchanging + & x and 12 &18, which of
the following equations will hold true ?

(A) (12+18)x12=72

(B) (12+6)x18=36

©) 9+12)x18=60

(D) (18+6)*x12=90

(E) Not attempted

Kajal left home for a hospital. She travelled 5 km
towards East, then turned towards South-East to
travel another 10 km, then again she turned
towards North-East to travel 10 km and finally, she
reached the hospital. In which direction is the
hospital with respect to her home ?

(A) West (B) East (C) South (D) North
(E) Not attempted

Find the odd one out :

(A) 91

(B) 169 _—
(C) 187 E%ﬁ
(D) 143

(E) Not attempted

21.

22.

23.

24.

25.

26.

GET IT ON
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fomr gfe -

(A) Rmm B) sigh (C) frer
(E) SRl 37 =med
Frefaftaa st T AR TR 2
(32 % 1:5) + (672 + 0.8) — (21)
(A) 879 (B) 48
(C) 1099 (D) 1321
(E) IR o1 =med

Frefaftaa o @ H-a1 v1ee = fiu T Gefer it qag
3o S T HFAT @ ?

ﬁﬁw:sﬁa::é‘e:?

(A) de

(B) dER

(C) sHrd

(D) ot

(E) 3T o1 9med

+ & x qUT 12 & 18 T A9 | g W, Freferfaa
T T hI-ET THIHT el BT 2

(A) (12+18)x 12=72

(B) (12+6)x 18=36

(C) (9+12) x 18=60

(D) (18 +6) x 12=90

(E) 3T & o1 =med

IS L SFEIATA o f7g, Fecft | a8 & o 3T
5 Teret =reft, ToRe aferor.uel i 3 gegat 10 fomeft =ref,
TRt a7 IT-ga ol TR qZaR 10 fopeft Treft o 3faq o
T SFEIATA UG 7T | IHeh W o UG AT [ohd
feamag o

(A) 9E®  (B) ©
(B) I <1 =med
ERCECIEI

(A) 91

(B) 169

(C) 187

(D) 143

(E) TR g1 =med

I EIRIKE

i

(C) sfaor (D) W
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27.

28.

29.

30.

31.

= |V

A machine produces 1 unit every 2-5 minutes. Ifits |27,

efficiency drops by 10% after 2 hours of
continuous operation, how many units will it
produce in a 5-hour shift ?

(A) 130 (B) 110-8

(©) 1128 (D) 108

(E) Not attempted

A trader offers two successive discounts of 20% |28.

and x on an item marked at ¥ 2,000. If final selling
price is ¥ 1,280, find x.
(A) 33:33%

©) 10%

(E) Not attempted

(B) 25%
(D) 20%

A manufacturer sells an item to a shopkeeper at a |29.

profit of 25% on his (the manufacturer’s) cost
price. The shopkeeper then sells the same item to a
customer for T 500, making a profit of 20% on the
selling price. What was the manufacturer’s original
cost price for the item ?
(A) T240

(C) T400

(E) Not attempted

(B) £320
(D) %300

A conical tent of radius 7 m and height 24 m is|30.

being made. If cloth costs T 10 per square metre,
then what is the total cost to cover it from the
outside ? (Use 1t = 22/7)
(A) 6,000

(C) 4,800

(E) Not attempted

(B) %5,750
(D) %5,500

s

A invests ¥ 50,000 for 8 months, while B invests |31,

¥ 80,000 for 6 months in a venture. What should be
the profit sharing ratio of A: B ?
(A) 5:6 (B)5:8 (C)8:5
(E) Not attempted

D) 1:1
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T AR S 2-5 fime 1 gfe 1 Semed et
21 3fe 2 =2 & i TeTe % oTE HehT 2&TdT 10%
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(A) 130 (B) 110-8
(C) 1128 (D) 108
(B) SO <1 =med

T SATIRT T 2,000 7S 2T Toh o T 20% 37 x I
2l Stk P YeH LT ® | Afe sifm foska qowr
1,280 B, @ x J1 T |

(A) 33-33% (B) 25%
(©) 10% (D) 20%
(E) 3l a1 =med

T i, Th THHER i Uh 6] 6ok (i )
AT 7T T 25% o T T s=ra € | o ghmer
IET S T TF T i £ 500 H srerm &, Foresr 39
forshar e T 20% 1 AT BT © | I o forg it

T HT AT He 47 AT ?

(A) %240 (B) %320
(C) 400 (D) 300
(BE) SR T=I &1 =med

E!%EEE
x
=]

7 Her frsar oK 24 et S=TE a1 U SigEeR
T ST ST 3T 2 | A e ol AT T 10 Wi &
et B, q1 9 X F T HT FA AN T Q2
(10 = 22/7 1 3T HifTw)

(A) 6,000 (B) 75,750
(C) 4,800 (D) %5,500
(E) ST Tl &1 =med

A Torelt sem o 8 wEH & fotw 2 50,000 fFowr st 2,
Sefh B, 6 TEH & forT ¥ 80,000 fFasr =htar 2 |
A : B T AT FITSI ST T ST =TT, 2

(A) 5:6 (B)5:8 (0O)8:5 (D)1:1
(B) SO &1 =med

$8%


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

32.

33.

34.

3s.

e

J3+J2 J3=V2 )
7\/3_\/5 andy=7ﬁ+ﬁ,thenwhatls

2 2
the value of x +y ?

Ifx=

(A) 49
(B) 50
(C) 25
(D) 98

Eé?‘i
X
=] e

(E) Not attempted

A tower casts a shadow 20 m long when the sun’s
angle of elevation is 30°. What is the height of the
tower ?

(A) 20m

20
B

Nl
20
© gm

(D) 10m
(E) Not attempted

Given the table below, which department has the
lowest profit per employee ?

Department No. of  |Profit @ in
Employees | Lakhs)
HR 20 40
IT 80 70
Operations 50 50
Sales 60 30
(A) Operations B) IT
(C) HR (D) Sales

(E) Not attempted

A train moving at 90 km/h takes 30 seconds to
cross a bridge. It takes 18 seconds to cross a pole.
Find the length of the bridge.

(A) 300m (B) 350m

(C) 450m (D) 400 m

(E) Not attempted

32.

33.

34.

GET IT ON
Google Play

S5-2
NEENG

342
NEENG
X2+y2‘°|'7ftl'|'rf?ﬂT%?
(A) 49
(B) 50
(C) 25
(D) 98
(E) IR AL a1 =med

I x = ARy = Al

T 2Te 3h 1T 20 HiE Tl el & STol 3 1 31
RIVT 30° BIT & | TR 3t S forar1 & 2
(A) 20m
20
ﬁ ) =

L0
20 B
m

frar & 78 arferemt A, fore o & ufa seeemd @y
GIUFA S ?

fasmr am’a?ﬁa?’aﬁ ATY (TG T )
e
HR 20 40
IT 80 70
i 50 50
fasht 60 30
(A) uiETeH (B) IT
(C) HR (D) fersht
(B) I <1 =med

90 Toprt/eieT 3 TTfer & =t aTelt Teh ¢ i Tk et IR
T H 30 Yehg T € | Th @ I IR hd H 34
18 Tehe T & | It bl eITS 1 SIS |

(A) 300 m (B) 350 m
(C) 450 m (D) 400 m
(E) SRl T = med
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36.

37.

38.

39.

e

What was the original name of the fort built by
George Thomas
Jahazgarh ?

(A) Georgegarh
(C) Jhajjargarh
(E) Not attempted

which was later named
(B) Bahadurgarh

(D) Thomasgarh

Which award is annually conferred by the Haryana
Kala Parishad for contributions to Haryanvi
literature ?

(A) Vyasa Samman

(B) Pandit Lakhmi Chand Award

(C) Haryana Gaurav Samman

(D) Saraswati Samman

(E) Not attempted E%g
=
=

Which of the following statements about
traditional Haryanvi literary and cultural forms is
incorrect ?

(A) Jhumar Dance is performed by men in a
circular formation.

(B) Ragini is a popular form of narrative poetry
in Haryanvi.

(C) Sang (Swang) is a folk theatre combining
music and drama.

Ratvai is a dance associated with the Mewati
tribe.

Not attempted

(D)

(E)

Arrange the following districts in descending order
of their Census 2011 population :
Hisar, Yamunanagar, Faridabad, Panipat

(A) Hisar > Faridabad > Panipat > Yamunanagar
(B) Faridabad > Hisar > Panipat > Yamunanagar
(C) Faridabad > Hisar > Yamunanagar > Panipat
(D) Faridabad > Panipat > Hisar > Yamunanagar

(E) Not attempted

36.

37.

38.

39.

GET IT ON
Google Play

StSt offHe gRT HiHd fohet 3T 7ot T o o 5 &
T STRTerTe AT fo= a2
(A) SiSiTe

(C) #SSG

(B) S &1 =med

(B) wEIgUTg
(D) mETe

SRV et 9w g SR wifeed ® INEH 6
foTQ Sifera -1 R YaT fora ST & 2

(A) =8 T

(B) dfsd ot =i FeEhr

(C) o Titg g

(D) HEdT g g%%

(E) IR &l 37 =met Bl

qrufE gRETTEt dfefcres TR diehfae 9T o IR

7 frfafed & @ HH-ar Fe Tea 2 2

(A) FR T e GRT TR fom=amer o o e
T |

(B) T BTt § sHeiTcheh 1T T Teh TS
T

(C) HiT (W) Uk sk T & fored wvfia 3k
1< ol GASH BT R |

(D) TS HaTt STl & 3T T e € |

(E) 3T o1 9med

Freafefaa et st SRt SFUET 2011 3 STEET
o TR hY T FRrd hifeTT ;

(A) fear > wlierene > g > FHAR

(B) H{IEETE > fdR > arHfivd > FHAAR

(C) weTETe > fear > FAR > gHiaa

(D) SRR > qrHITd > fFHR > FHAATR

(E) 3 &l a1 =Imed
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40. The Sangita Ratnakara, a treatise on music, was | 40.

composed by which of the following musicians ?
(A) Swathi Thirunal

(B) Tansen

(C) Sharangadev

(D) Amir Khusrau

(E) Not attempted

41. Match the following Articles of the Indian|41,

Constitution in Column A with their respective
Subject Matter in Column B :

Column A Column B

(Article) (Subject Matter)

a. Article 14 1. Protection of life and

personal liberty

b. Article 19 ii. Equality before law

c. Article21 iii. Right to freedom of speech

and expression

d. Article 32 iv. Right to constitutional

remedies
Codes :
(A) a-iii, b-ii, c-i, d-iv
(B) a-ii, b-i, c-iii, d-iv
(C) a-i, b-iv, c-ii, d-iii
(D) a-ii, b-iii, ¢-i, d-iv
(E) Not attempted

s

42. Which ocean current is warm and helps keep|42.

Western Europe’s climate moderate ?
(A) Humboldt

(B) Labrador

(C) Gulf Stream

(D) Canary

(E) Not attempted

GET IT ON
Google Play

Tfia 9T v, St Tere ot Tt fmferfaa o & fommr
Trffaen = St oft 2

(A) Tarfa foreer

(B) dmaT

(C) ITaTRd

(D) smfigad

(E) 30T 1 =med

#Heq A ° fou T yrdly w@faum & Fefafaa
TSR T it B 7 T30 10 379 wsifera formr-ag
¥ e Fifee -

T A HIcTH B
(FTF3) (Frvr-7%g)
a. AFeE 14 i T 3R e T
T EETT
b. FT=SE 19 ii. T (faifer) o wwer g
c. TeE21 iii. AT UH AN o T
T TR
d. TSI 32 iv. HIAHTH TR Al SAIHR
<< :

(A) a-iii, b-ii, c-i, d-iv
(B) a-ii, b-i, c-iii, d-iv
(C) a-i, b-iv, c-ii, d-iii
(D) a-ii, b-iii, c-i, d-iv
(E) AT & 1 =med

FHH-HT TEEIRE g T @ R ket g
STEATY i HEAH SAIC T | 7eg hLd & 2

(A) Tl

(B) &ASTER

(C) T Em

(D) F

(B) IS o1 9med

G
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43. Which one of the following is not associated with |43,

Harappan culture ?
(A) Great Bath

(B) Drainage system
(C) Iron tools

(D) Bricks and Beads
(E) Not attempted

s

44. Consider the following statements about the|44.

Comptroller and Auditor General (CAG) of
India :

I.  The CAG is appointed by the President of
India.

II. The CAG can be removed by the Prime
Minister.

III. The CAG audits the accounts of both the
Union and State governments.

IV. The CAG submits audit reports directly to
the Finance Minister.

Which of the above statements are true ?

(A) TandII only

(B) Iand III only

(C) Mand IV only

(D) I, Il and IV only

(E) Not attempted

45. Which country assumed the BRICS presidency in |45,

2025 following Russia ?
(A) South Africa

(B) China

(C) Brazil

(D) India

(E) Not attempted

GET IT ON
Google Play

fafafad & @ wH-a1 gew d@whfd ¥ gefid T8t
29

(A) fomTmer \EmmR

(B) SA-fenreft raen

(C) &R * TR

(D) ¥ AR ATH

(B) IS &1 9med

A & = v weerEr wiesd (CAG) & s |

Fafafad wert w fomm Hifsw

I CAG %t g v o wegafa g =t st
=

II.  CAG %l T8 5 §RT 82/ ST HhaT & |

[I. CAG g 3R TT ORI gFT & @l il
TAGTIEAT T ¢ |

IV. CAG wremadierr fard € fomy woft sht seqa
FLATR |

I | § A FH T E 2

(A) Faed [ 3R

(B) haet [ 3T 111

(C) Haet I1 3R IV

(D) ae I, 111 3R IV

(E) 3T 1 =med

E!'§E|Ei
X
=]

w9 % 91 2025 | fsra st ereeran fohg <1 3 7@0r
Al

(A) gfeTor STshieRT

(B) ==

(C) SISt

(D) wmd

(B) IS o1 9med
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46. Consider the following statements about|46. TN o ik Gfd o I H fAEfeTRad AT T
Haryana’s folk music : formm Sifse
I.  ‘Bara Masa’ is a popular musical form that [ SR HEP U AT @ €9 2 S aRE
expresses the emotional journey of T % 3R foree AT St raTeeR A
separated lovers through the twelve months. T I P S |
II.  ‘Jhoolna’ songs are associated with [ ST Mid gifdes giel 9SS 8id & IR
religious ceremonies and sung during death a%r{%aﬁmmqaﬁ% |
rituals. I AT Beft % e % RH T S e
III.  “Phag’ is a seasonal form of music sung gifid &1 T HiEH &9 g 3R g8 @it 3k
during the Holi festival and expresses joy <FeIeTdT Shl oFh AT R |
and playfulness. IRIH H W -1/ HUT T 2/
Which of the above statements is/are true ? ( A; [ 11 3 (B) a1
(A) I, Mand NI (B) ITonly (C) Faa 1R (D) et 13 1M1
(C) Iand Il only (D) Tand III only .
E) IW A &A1 Ared
(E) Not attempted (E) il
47. Which of the following statements are true |47, IARAEARCHATIAEY (DRIISHYA) & Hay o
regarding DRIISHYA ? frefifaa F A - A Fa g 2
I.  Haryana launched DRIISHYA for surveying . efmon 3 e et (sterterT) ahEsmre
infrastructure projects. o Ho&uT o feTg DRIISHY A @<t fofalT |
II. DRIISHYA was launched in 2023. II. DRIISHYA 35"[ 2023 ﬁa"’[‘a‘ﬁ;q'[w T |
III. DRIISHY A is headquartered in Gurugram. III. DRIISHYA T &I TRUH § 2 |
IV. DRIISHYA provides drone pilot training to IV. DRIISHYA i@ # Jareh & 89 I
the youth in Haryana. TTRT&T0T YeT AT R |
Options : ey
(A) LITandIVonly (B) IandII only (A) Fael I 11 3R IV (B) FaA [T
(C) MandIVonly (D) IandIV only (C) FIAM NIV (D) Fad I3V
(E) Not attempted (E) IR T T =R
— EEE
o 2
48. Which location is renowned for hosting the Mango |48, gX Tl § 310 Bl o ATAISH & foIT shia-a1 T
Mela every summer ? g ?
(A) Panipat (B) Faridabad (A) THiTa (B) wiemETE
(C) Karnal (D) Pinjore (©) T (D) Fisin
(E) Not attempted (E) T S
B $139%
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49. What does the BCC field in an email stand for ? | 49,

(A) Broadcast Carbon Copy

(B) Backup Communication Copy
(C) Background Central Copy
(D) Blind Carbon Copy

(E) Not attempted

50. Which of the following statements is incorrect ? |50,

(A) Windows allows file compression.

(B) Windows 10 Pro supports remote access.

(C) Windows 10 Pro is a single-user operating
system.

(D) Windows supports a Graphical User Interface
(GUD).

(E) Not attempted

51. Match Backup media (Column A) with its|51,

Description (Column B) :
Column A Column B
(Backup (Description)
media)

a. Tape Drive i. Cheap but slower, optical

media

b. SSD Backup ii. Fast random access,

Disk durable

c¢. Cloud iii. Remote, internet-based
Backup storage

d. DVD iv. Sequential-access, low
Archive cost per TB

Codes :

(A) a-iii, b-i, c-iv, d-ii

(B) a-ii, b-iv, c-i, d-iii g%%

(C) a-iv, b-iii, c-ii, d-i
(D) a-iv, b-ii, c-iii, d-i
(E) Not attempted

GET IT ON
Google Play

A H BCC Fiee 1 . 72 8 2
(A) SITSHIEE HTa It
(B) 3T IR it

(C) SehuTSE Hget shidt

(D) STITEE el it

(E) STl T =ned EI%IE%
[Of= 5

frefafad § @ P-aT haT T & 2

(A) eIt wrget dfted &t stf aaT 2 |

(B) TerErst 10 9T FATe T (YT SATT) sh wael
FATL |

(C) T 10 1 e ferer-aem ftoifen fwen 2

(D) faerst mftheher ISR 32T (GUI) 1 G
FATR |

(E) 3T o1 9med

AT ST (FTH A) i 36 foaoT (Fie™ B) &
Torem St -

HicTH A FicTH B
(37T (ferertn)
Hifeam)
a. 39 ST i, HET cAfer e, Afftesha

Hifean

b. SSD Sh3TT ii. o AGIwdah AN, fehrs
fee=n

c. FASE iii. e, $ete-oTenia et
e

d. e iv. SgeRish-Srfv, ufa dsft 6m
SATHIZT AT

e :

(A) a-iii, b-i, c-iv, d-ii
(B) a-ii, b-iv, c-i, d-iii
(C) a-iv, b-iii, c-ii, d-i
(D) a-iv, b-ii, c-iii, d-i
(E) 3 &l a1 =Imed

B $14 %
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52.

53.

54.

55.

e

Which institution is mainly responsible for

procuring food grains at MSP for maintaining

buffer stocks ?

(A) Food Corporation of India (FCI)

(B) Commission for Agricultural Costs and
Prices (CACP)

(C) NABARD

(D) Ministry of Agriculture

(E) Not attempted

Which of the following statements about internet
security and privacy is incorrect ?!

(A) Clearing your browser’s cache can help free
up some disk space.

Public Wi-Fi networks are generally secure

for online activities.

(B)
©

Using a VPN can enhance security on public
Wi-Fi networks.

“HTTPS” indicates a secure connection for
browsers.

Not attempted
Bl
G
In early 2024, which Indian city launched the
country’s first underwater metro line ?
(A) Chennai
(B) Mumbai
(C) Kochi

(D) Kolkata
(E) Not attempted

(D)
(E)

Which of the following statements is incorrect ?
(A) Kiel Canal connects the Arctic Ocean to the
Atlantic Ocean.

Suez Canal connects the Red Sea to the

Mediterranean Sea.

(B)

Panama Canal connects the Atlantic Ocean to
the Pacific Ocean.

©
(D) Bering Strait connects the Pacific Ocean to
the Arctic Ocean.

(E) Not attempted

52.

53.

54.

55.

GET IT ON
Google Play
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Eiie o foTe e &0 & -6t weer foeer 2 2
(A) VT @ e (i)
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(C) e

(D) Ff¥ e
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(C) VPN o1 SWRITT HTeISI ek ATS-TTS "2eTeh T ELaT
TS THATR |

(D) “HTTPS” STSSR o fTC Teh G FHlarer
s

(E) 30T 1 =med

2024 1 AT H, fopg Rl wreT # <1 i vt
FSTATE HEl AT & 8 2

(A) =8

(B) T3

(C) Hift=r E%;E%

(D) ShicTshrdr (el

(B) ST o1 9med

frafafaa & @ FT-ar P TeTT § 2

(A) I T ITh{Ceh TETHTR hl STTATTCh TRETEHTR
TSt 2|

(B) IS & ATl |FR 1 $[HE IR & et € |

(C) TATHT & SATAIIH HETANR hl JSTd TSR
ged g

(D) ST STemERer (W) W HEMETR o
HATehieeh TR & e € |

(E) 3 &l a1 =Imed
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56.

57.

58.

e

What was Firoz Shah Tughlaq’s contribution to
Haryana’s irrigation ?

(A) Yamuna Canal

(B) Dam on Ghaggar River

(C) Water tax removal

(D) Lakes construction in Rohtak

(E) Not attempted

What is the primary objective of the e-Adhigam
initiative launched by the Haryana Government ?
(A) To distribute tablets to students in grades 10
to 12 for digital learning

(B)
©

To provide free internet access in rural areas
To establish new government schools in
urban areas

(D) To offer scholarships for higher education
abroad

Not attempted
E'éﬂzi
x
[

Consider the following statements about the
Vardhana Dynasty :

(E)

I. Their initial capital, Sthanveshvara, was

located in present-day Haryana.

II. King Harsha later relocated the dynasty’s
capital to Kanyakubja, a city in modern Uttar
Pradesh.

III. The final capital of the dynasty was also

known by its ancient name Thanesar.
Which of the above statements is/are true ?
(A) II and III only
(B) Ionly
(C) TandII only
(D) I, Il and III
(E) Not attempted

56.

57.

58.

GET IT ON
Google Play
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(E) 3T o1 9med
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(A) Hae I1 R II

(B) Fae 1

(C) Faed 1311

(D) 1, 11 SR 111

(E) 3 &l a1 =Imed

II1.
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59.

60.

61.

62.

e

Which of the following is not an objective of the
South Asian Association for Regional Cooperation
(SAARC)?

(A) To accelerate economic growth, social
progress and cultural development in the
region

(B) To strengthen cooperation among themselves

in international forums on matters of common

interest

(C) To establish a unified political system across

member states

(D) To promote the welfare of the people of South

Asia and to improve their quality of life

(E) Not attempted

Which pollutants are the primary focus under
NCAP ?

(A) Lead and Mercury

(B) PM2.5 and PM10

(C) Nitrogen Dioxide and Carbon Monoxide

(D) Sulphur Dioxide and Ozone

(E) Not attempted

i

Who chairs the Goods and Services Tax (GST)
Council in India ?

(A) Union Finance Minister

(B) Prime Minister

(C) RBI Governor

(D) Finance Secretary

(E) Not attempted

Identify the incorrect pair :

(A) BRICS — Developing economies

(B) NAFTA — North American Free Trade Area
(C) GATT — Predecessor of WTO

(D) OPEC — Climate agreement

(E) Not attempted

59.

60.

61.

62.

GET IT ON
Google Play
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(A) e for waft
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(E) 3T o1 9med
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(D) 3T — ST T

(E) 3 &l a1 =Imed
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63. Which of the following is the correct group of|63.

physiographic divisions of the Ghaggar-Yamuna
Plain in Haryana ?

(A) Bhabar, Terai, Khadar and Bundelkhand

(B) Malwa, Khadar, Doab and Rohilkhand

(C) Bhakra, Doab, Terai and Chaur

(D) Bangar, Khadar, Naili and Bet

(E) Not attempted

64. Match the landmarks in Column A with their|64.

correct locations in Column B :

Column A Column B
(Landmark) (Location)
a. Brahma Sarovar i. Faridabad
b. Surajkund ii.  Bhiwani
c. Tilyar Lake iii.  Kurukshetra
d. Star Monument iv.  Rohtak
Codes :

(A) a-iii, b-iv, c-i, d-ii
(B) a-ii, b-i, c-iv, d-ii
(C) a-iii, b, c-iv, d-ii
(D) a-i, b-iv, c-ii, d-iii

(E) Not attempted

65. Which of the following is the highest peak in |65,

Haryana ?

(A) Dhosi Hill

(B) Riwasa Hill

(C) Khanak Hill

(D) Karoh Peak E‘%g
(E) Not attempted Blet

66. Complete the series : 66.

4,7,13,25,49,?
(A) 97 (B) 101
(E) Not attempted

(©) 91 (D) 85

GET IT ON
Google Play
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o E‘%g
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(A) HrEt TRt
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(C) T ere!

(D) e =T

(E) 3T o1 9med

4,7,13,25,49,?
(A) 97  (B) 101
(E) ST o1 =med

(C)91 (D) 85
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67.

68.

69.

70.

e

Select a figure from the Answer Figures which will
continue the same series as established by the five
Question Figures.

Question Figures :

S ||Ww
0 || A4 >

(1) 2 3 4) (5)
Answer Figures :
(A) \% (B) %
© | g D) | &

(E) Not attempted

Which one set of letters when sequentially placed
at the gaps in the given letter series shall complete
it ?

gfe ig eii fei gf ii

(A) eifgi (B) ifgie

(C) ifige (D) figie

(E) Not attempted

Three tasks must be completed, each taking one
hour :

Task 1 : Needs Anita and Babita -

Task 2 : Needs Babita and Cheenu %%ﬁ

Task 3 : Needs Anita and Cheenu

Only one task can be worked on at a time. No
person can participate in two tasks simultaneously.
What is the minimum total time to complete all
three tasks ?

(A) 2 hours

(C) 3 hours

(E) Not attempted

(B) 2-5hours
(D) 3-5hours

In which year was the Circuit House converted into
the residence-cum-office of the Governor and
made Raj Bhavan Haryana ?

(A) 1956 (B) 1976 (C) 1986
(E) Not attempted

(D) 1966
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I SATHICAT § T Tk SR T T HIRT S 9=
O SATRFET ST T ST o SR e |
9 TR At :
S |[Ww
0 || 4 7
(1) 2y 3 4) (5)
IR STl :
(A) % (B) \(%,
O | D |
(E) SRl &7 =med

e T AT T & T3 & e | e S
T ShiHe T W W S T 3H I HT 2

gfe ig eii fei gf ii

(A) eifgi (B) ifgie
(C) ifige (D) figie
(E) 3l &A1 =med -
&

< T X A B, TSI © ST H U HeT e
S 1 : AT IR STfiar i AR §

& 2 ; et SR = it AT 8

1 3+ AT ST A i ST &

T g9 | halol Ueh &) i fordm ST deha1 © | hiS ot
<k Teh AT &7 1T | T e} of Tkl |

T T ol O A o6 TTT =TT F G AT 2
(A) 2% (B) 2:5°%C

(C) 3% (D) 3-5%2

(E) 3l <A1 =med

gihe wRH W R 9 TeHUA  F
fFra-e-wEiaa § ufEfda fer m=r it ==
FITOTT TS T &1 77T 2
(A) 1956 (B) 1976
(E) ST o1 =med

(C) 1986 (D) 1966
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75.

= |V

Only three of the options can be formed using the
letters of the given word CELEBRATION, using
each letter only once. One option cannot be
formed. Find that word.

(A) TABLE (B) ACTION

(C) ELECTRIC (D) BRACE

(E) Not attempted

In a certain code, ‘BASKET’ is written as
‘5$3%#1° and ‘TRIED’ is written as ‘14%#2’.
How will ‘SKIRT’ be written in that code ?
(A) 3%#41 (B) 3%%41
(C) 3#4%l (D) 3%%41
(E) Not attempted

[E]zE[E]

i

Three friends had dinner at a restaurant. When the
bill was received, Amita paid 2/3 as much as Veena
paid and Veena paid 1/2 as much as Tanya paid.
What fraction of the bill did Veena pay ?

(A) 411 (B) 3/11  (C) 5/11 (D) 1/3

(E) Not attempted

What is the minimum educational qualification
required for a Scheduled Caste (SC) woman
candidate contesting the post of Panch in Haryana
Panchayati Raj Institutions elections ?

(A) 5thpass (B) 8th pass

(C) 12th pass (D) 10th pass

(E) Not attempted

Haryana shares its boundary with how many
Indian States, excluding Delhi ?

(A) 6 B) 5
(€) 4 D) 7
(E) Not attempted

71.
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73.
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feu U 35 CELEBRATION 3 37&T 3T ST Fleh
ol i foreheq ST ST Eehd 8, STeifeh Todieh 3T&
T YA shaeT Teh S foralT ST & | e fareheq et
ST ST Hhell | 7 368 Gl |

(A) TABLE (B) ACTION
(C) ELECTRIC (D) BRACE
(B) SO <1 =med

T [fs e 4, ‘BASKET &1 5$3%#1° 3T
‘TRIED’ Rl ‘14%#2’ for@r Siar € | 39 shie §
‘SKIRT’ Rl &l for@r sirae 2

(A) 3%#41 (B) 3%%41
(C) 3#4%] (D) 3%%41
(E) SRl 37 =ed

T &l 3 Ueh W | @HT @ | ST foret fye, a
AT = ST o I 61 2/3 e foram ST efar 3
AT o A 1 1/2 ST o | o 3 foret s
feper feww <o 2
(A) 4/11  (B)3/11 (C) §/11 (D) 1/3
(E) 3l &1 =med

5

BTV =Tl TSt SRl o <AEl H 0 o 7€
foTC =1a Ao ATt STgfed St () S afear

IefieaR o foTg = reafores e @ 2 2
(A) 5ata™ (B) &dfum

(C) 12t (D) 1037 e
(E) 3l <A1 =med

g shi €T, feecdt i Bigwt, ford wida T=ar
& G AT S 2

(A) 6 (B) 5
©) 4 D) 7
(E) SRl T = med
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Fill in the blanks :

As the plane through the turbulence,
passengers their seatbelts tighter. The
captain’s calm voice reassured everyone.

(A) flew, grabbed

(B) flew, fastened

(C) flying, held

(D) flown, hold

(E) Not attempted

Which of the following describes a person who
does not believe in the existence of God ?

(A) Agnostic (B) Atheist

(C) Theist (D) Skeptic

(E) Not attempted

What is the antonym of “Meticulous” ?
(A) Precise

(B) Detailed EE

(C) Careful E%E

(D) Sloppy

(E) Not attempted

Which of the following options gives the
grammatically correct sentence ?

(A) The report comprises of five sections.
(B) The report comprises five sections.

(C) The report is comprised of five sections.
(D) The report had comprised five sections.
(E) Not attempted

Fill in the blank :

It is essential that she
meeting tomorrow.
(A) be

(B) is

(C) were

(D) was

(E) Not attempted

present at the

81.
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Identify which part of the following sentence has
an error.

Each of the boys /
@

his assignment /

(I1I)

have submitted /
an
today.
av)

ATV

(B) III

O 1

(D) II

(E) Not attempted

Fill in the blank :

They were finally able to
long disagreement.

(A) spill the beans

(B) burn the bridge

(C) bite the bullet

(D) bury the axe

(E) Not attempted

Fill in the blank :

By the time we got there, the train
(A) leaves

(B) has left B
(C) had left E%ﬁ
(D) left

(E) Not attempted

after a

In which sequence should the following parts be
arranged to form a proper sentence ?

reached / before noon /

(II) (11I)

the station /

@
(A IL IV, L I
B) LI, IV, 11
©) IV, L 11, 11
(D) IV, 11, I, 111
(E) Not attempted

they
av)

What is the synonym of “Ancient” ?
(A) Future

(B) Current

(C) Recent

(D) O1d

(E) Not attempted
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frfefaa et w fomm Fifsre

I @ o ¥t e i o fagm R, 30
T AT FEA |

I S I O Uk T SUSTeT e Ush 31 Uah

T ferek ST SuaTe 2, 39 T s shed

gl

o arerRr & 21 a1 31 @ SAfres AreT R At

T Uy forelt wliTen w1ee & 2 &, 39

T AT FEA |

T AT ST YU ISR AT ST

IUGTH o GHF YRR drem ', 39

FHTTTRIHTOT ST hEd & |

STYh HUT § E HH-A T8 2

(A)LILNISRIV  (B) L 13RI

(C) I, I AR IV (D) 11, 11 AR IV

(B) TR &l o1 =med :'?%S

[OFz 2
ERCUR N f
(A)3d  (B) 3= (C) deft
(E) ST 1 =med

II1.

Iv.

(D) 31

fe A 90 3 A1 F =] | AT o TS
(A) Frma Saw o (B) foemnds g
(OK:HPERCIER] (D) Hehereleh arer
(B) TR &l <A1 =med

“gfasT 9TH = e & T T wee ©
(A) FHEATHA (B) Ssadfas
(C) SAseryfersT (D) SAsayfaisa
(E) ST S &1 =med

feu Tu forsheat ® afgd ToaT T ISR AR © ¢
(A) ST (B) qfEHH (C) TeR (D) anfera
(E) ST S &1 =med

T I fodm TeE ?
(A) =@ (B) §&W
(E) ST A 1 =1

© s (D) WK
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IEfier ¥1eq o1 Giy-fosae @

(A) 9T + 30 (B) AT + 3%
(C) &k + 321 (D) &1 + 31
(E) 39T <1 =med

gfe I8 INYA HLAT O AT g% BT | 9T |
ER IR

(A) TP Afasq (B) 3Tl o1
(C) el (D) qRTHE
(E) 3T &1 =med

Tt & it A Tar s | HfRe § ST S
(A)3TT  (B) IF (C) 3TIM (D) &I
(E) SR & o1 =med

T 1 & 3 ST TS 3§ Jeaie €

(A) farivor ugsier (B) HaTH Ugser
(C) foram wesier (D) EFT Uese

(E) SR & o1 =med
[ 3158 T =T AT :
(A) T (B) Y
(E) ST &l o1 =med
frmfafad § & qegey oo 1 o Tg 7E R -
(A) SFH=, TN, Shie e
(B) SATHH, AR, Toedi
(C) AT, BT, SHeTahal
(D) SA-IR], STHIGS, AT
(E) ST &l o1 =med
frefafaa @ @ smmmEr 2
A)g,7  B)HA M (O d
(B) 3T 2 <1 =med
freferfaa & & forarerT Samor v qaf 7& 8 2
(A) & B) 2 (OXY D)
(E) ST &l <A1 =med

R TRt Tt & 2
A& B)IgE  (C) T
(E) ST TS 1 =1

O© I (D)3

E!%EEE
x
=]

(D)=, e

O EE
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Candidate must bring legibly printed Admit Card with recent
coloured self-attested photo pasted on it at mark B and one identity
proof with photo viz. Driving License, Voter Card, Aadhar Card,
Passport etc. at the Examination Centre, failing which candidate will
not be allowed to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father’s Name,
Mother’s Name, Exam Centre Code, Date of Examination, Session,
Roll Number, Question Booklet Number. The candidate
himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing these details.
Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR Answer Sheet and on the Biometric
Machine along with signature.

. Candidates are warned not to fold or make any stray marks on

the OMR Answer Sheet. After filling the OMR Answer Sheet,
use of Eraser, Nail, Blade, White fluid/Whitener etc., to smudge,
scratch or damage on the OMR Answer Sheet during
Examination in any manner is strictly prohibited. Candidature
and OMR Answer Sheet of candidates using Eraser, Blade, Nail
or White fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile phone,
any type of watch, belt, electronic or communication device, Pen,
Pencil, Eraser, Sharpener and Correcting Fluid, wear ornaments like
ring, chain, earring etc. in the examination centre. If any candidate
is found possessing any such item, he/she will not be allowed to
enter in the examination centre. Possession of mobile phone or any
other aiding material as mentioned above inside the examination
room will be treated as a serious violation and it will amount to
cancellation of the candidature and debarring him/her from future
examinations.

Candidate’s request to change the examination centre and seat in the
Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in
the identification and verification of the candidate and photographs,
the candidate shall not be allowed to sit in the examination and be
liable for criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given, with only Blue/Black Ball Pen provided by the
Commission. Pencil should not be used for darkening the circle.
No candidate shall be allowed to go to the toilet/washroom during
the first and last thirty minutes of the examination. No candidate
shall be allowed to leave the examination centre before completion
of the examination.

No candidate will be allowed to leave the OMR Answer Sheet
blank. If any OMR Answer Sheet is found blank, it shall be
““Crossed’” by the invigilator with his/her signature and the
invigilator will also mention “Cancelled” on it.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the
candidate from appearing in the examinations to be held in future
and can also file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.
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